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Questionl:-The social reformer of Kerala who conducted Villuvandi Samaram
against caste descriminations.
WIMIWAIW O 4|0 2IMIEBRUBEE IO m’lrg_lgmm'l M2 MSOBIQ CHESOBINRI TVIGaCld: al@lag@omonl

@R ?
A:-Sahodaran Ayyappan

MUEANIBEM @Y |

B:-Ayyankali

@RQHHs3!

C:-Chattampi Swamikal

algmil arvjooileud

D:-Vaikunda Swamikal

60U aIolE (B
Correct Answer:- Option-B
Question2:-Who established Thattuabodhini Sabha at Calcutta in 1839 ?

1839-® &@ems0led m@iceniowlal e qunoallqo @ry@ ?

A:-Keshab Chandra Sen

GH UM 2l(B3ETVD

B:-Debendranath Tagore

GEENIE@3IMILN S96UNOA

C:-Swami Vivekananda

aulodl alleaidomasad

D:-Dayananda Saraswathi

BQIMO3 MLEMVID)

Correct Answer:- Option-B



Question3:-The place where the First War of Indian Independence brokeout in 1857

a@@ muoeiemosm 1857-6a1 amoe muo@E@@y Muaee @REK s)nJog'lqdos)ng(m“ ?

A:-Lucknow

216d50

B:-Kanpur

B 06MBad@
C:-Meerut

og

D:-Delhi

AW@daol
Correct Answer:- Option-C
Question4:-Oath of Tennis Court was related to which among the following
revolutions ?
esaTImY 5033 (JOIDEm @I al0QM oD allgjqnowl miTweqsidlesmo ?

A:-French Revolution
@g6ral allgjal
B:-Cuban Revolution

SyEnIad Qllgjalo

C:-Chineese Revolution

66.21MIaMY aflgial

D:-Russian Revolution

0oy Qllgjalo
Correct Answer:- Option-A

Question5:-Who is the present Chairman of Indian Space Research Organisation ?

DM ENIACIEIH:ID NEAIAHEM CHBOMINTH0 Mlalnlenl GRELIBGUM @RE ¢

A:-Dr. S. Somanath

GOWI. af)MJ. GMLOAMOILG’

B:-Dr. V. Narayanan

eaw9. all. MIIWeMM

C:-Dr. K. Sivan

GOWI. ). UBlAUM



D:-Dr. K. Radhakrishnan

GO, &b, EIWIE) UM
Correct Answer:- Option-B

Question6:-Kerala Folklore Academy situated in which district of Kerala ?

CHOS GaNId: GRIDA @R IRAl crudl@l ©.alQm GHEsOmIeAl Koy

A:-Thrissur

C:-Kozhikode

GHHOYICHHIS

D:-Thiruvananthapuram

OITBUMIDJO0

Correct Answer:- Option-B
Question7:-In 2022 Fifa World Cup Football final, which country's team was
defeated ?

2022-6e1 adlan 62108 daf agsemioud eeanmeld emomall emdls Sl o3 EomyOBIAdEO®mIsM ?

A:-Brazil

enIenS@d

B:-France
@Qodany’

C:-Spain
HMVaIm

D:-England

EDo6NE’
Correct Answer:- Option-B

Question8:-The poetry collection Ambalamani is the work of

@RMULIAET] )M BHOQUTVAINNIR BRTBOS GHDIWIEM ?

A:-Balamaniamma

enIoeIomeMIon

B:-M T. Vasudevan Nair



af)o Sl. QIMYEBAIM MOIWA

C:-O. N. V. Kurup

8. af)B. all. &Qa]
D:-Sugatha Kumari

MYN@E:20@

Correct Answer:- Option-D
Question9:-In which year, Kumaran Asan National Institute of Culture was
established at Thonnakkal ?

BDOMNENDD HAOOMIUBIM MPORS> BRUSIQ MVIMIGIE: EBBe MVNJallsl QAIBaH. 7
A:-1958
B:-1962
C:-1965
D:-1972
Correct Answer:- Option-A
Question10:-In 2024 World Chess Championship who was defeated by D. Gukesh ?

2024-601 6218 621N al0m@Batloflad aull. VeV A IRIBWESTTIVT BRYE® ?

A:-Magnus Carlsen

QUMY BHIUBLEND

B:-Veselin Tapalov

aaieauald maleanal
C:-Ding Liren
awlesrs’ elload

D:-Garry Kasparov

(1NO@] @OTYEOIOT
Correct Answer:- Option-C
Questionl1:-The deepest point in the Indian ocean is

DB DaOITVYBOTOL! BQQYe @RHPEACIR MVIMo aBD ?

A:-Sunda Deep

AN HOIGION

B:-Challenger Deep

21RIeRIB NBODo



C:-Brownson Deep

SEYDTVEM NBOo

D:-Factorian Deep

andGHIGIM Ao
Correct Answer:- Option-A
Questionl2:-The hot wind that blows over the Gangetic Plain during summer is

9 BIRIT Vo0 MAGAITIIMG Al 55600 B ?

A:-Kalabaisakhi

SI21966)6NIUBJ6M

B:-Loo

C:-Sirocco

aJlenoesno

D:-Khamsin

[aYleeabile
Correct Answer:- Option-B
Question13:-Which among the following States have the largest area under forest
cover in India ?
969 ®ATIBEBAN MeLNIMEEREIE DAV aBQQYe @M@ QI allnldem. 988 agaleswosm ?

A:-Nagaland

MWLM

B:-Meghalaya

CARI0RIY

C:-Madhya Pradesh

DELYAJCBUD

D:-Uttar Pradesh

OOMDB(JERUD

Correct Answer:- Option-C
Question14:-The first hydroelectric project in Kerala, Pallivasal is located on which
among the following rivers ?

CHESOIOR! @3 2RIOEAUBYD AlEGLBNWIW AISSIQMVTE MIOY @GDT%@@@@)'I(GB ap® malalensmy’
mud@ 6.qjgma ?



A:-Muthirappuzha
q;«»’](aqd@
B:-ldamalayar

EDSMRIIA

C:-Mullayar

Qejoad
D:-Cheruthoni Aar

6.2IQEMI6MIIA
Correct Answer:- Option-A
Question15:-The most polluted river in Kerala is

EHEBODIOR! o3Q0e 2elmanow Mm@l agay ?

A:-Chaliyar
a10alleod

B:-Kallaipuzha
ce)%o@’]qd@

C:-Karamana Aar

HSHODMWIA

D:-Kadalundipuzha

cB)SEJGTTé]Qd@

Correct Answer:- Option-B
Question16:-Which of the following statements best explains the role of NITI Aayog
in India ?

®69a]0QMAIRIG agmoem ol @rewIuiladen amiwieal alg manmo allwdle:dlesano ?

A:-NITI Aayog centralizes planning and decision-making , reducing the
autonomy of states in policy matters.

NITI erewory @M@l @IGROMERES8SERL) EHSlE@lERMD. MWalERIW &OEYEREIGd
MVEMLOIMETBEOS MVIWo BEEMIWIBIG0  HOQ.

B:-NITI Aayog focuses on the economic growth of the country and ignores
regional disparities.
NITI erewowy INETIMBEHO MLIMICDTIE: AUSADIG WBERL EHOIB:GEEBHWQYo ICRUTlE: GRIVAMIBRES
@RAINEMIEBHQo 6).21Q)M0.

C:-NITI Aayog facilitates the creation of state-specific policies by fostering



collaboration between the central and state governments.
B3~ MVoVLAIM (MBLIMHU @ATBIBS TVANG:EEMoe AISAOBIOWFERMMTIAHS TVMNIM-MIBGElny
MERUE Gale:Elesm@Im Mo @YERIUT HAVDEEIPRITERMO.

D:-NITI Aayog's primary focus is on implementing policies without consulting
state governments to ensure uniformity in development.
Ql&TUMOTIB BHIDHO® POOEHIND MMVOIM MBLHIGBHEROW] @RYERIVAlE:IO®m MWEBU3
MSapeBmM@lanem all @rEIUTlBe0 @ondle EBRD.

Correct Answer:- Option-C
Questionl7:-Which of the following is not a key feature of the New Economic Policy
(NEP) of 1991 in India ?
olajoma@d ogmosm’ 1991-6a1 wmyieal ojoile momiosie measiden (NEP) «wom
moafleweasmepEm® ?

A:-Liberalization of trade and investment

QPAIEODIMBEHOQe MIEBHAIOHIMBEHOQe DBIGUDIE@6Mo

B:-Nationalization of key industries

(@JWomMm OJ(SOJCTUO@)GGB%@S GBUDMLITIE6Mo

C:-Devaluation of the Indian Rupee

DM ([BIQOS PLIYONE:@ 2]

D:-Privatization of state-owned enterprises

MBHIB PSATLOMVIGYBS MICREBRSHS TVIMHIOKUTIL Mo

Correct Answer:- Option-B

Question18:-Which of the following is a specialized financial institution established
in India to promote rural development and provide credit for agricultural and rural
industries ?

Wadlemn alle:avme E@o@rIClaflEBM @M. @Bale: WIdlem QNITLOWEBBUIED AUOQ MTIEBMGITPAIWS]
M@ MUNMAIW B@ @E®iE WMEIEY TVNIAIMAET DMla]OQMAIRSITS a@G@o6erm

A:-National Bank for Agriculture and Rural Development (NABARD)

MOAHEMN@D 61108 GnNdB @RWIE:B.4IB @RMAL QO HwAIRlafeadd’ (meniodauy)

B:-Small Industries Development Bank of India (SIDBI)

£2IQ@IS QMO Allé:aum snioes Boad eoamy(SIDBI)

C:-Industrial Development Bank of India (IDBI)

DM MRIBS HAQIRIAEANBO 6NI08; 630a0 DAY

D:-Life Insurance Corporation of India (LIC)



©6Llal DMaYOMMY e0Bale0aum 63000 spamy (LIC)

Correct Answer:- Option-A
Question19:-Which of the following statements about the Green Revolution in India
is not correct ?

soam\lee! m@?@mﬂ%dm@mmo'l_r%gg DMl jOQM @MIAUMBEI®B @6 WEILCOT ?

A:-The Green Revolution led to the adoption of high-yielding variety (HYV)
seeds, chemical fertilizers and pesticides in Indian agriculture.

an@lmAllgjale DM @oBaldcaeuniwilcd @ODYBOBM cLondlQes allgoege. EITLAISEES.
a:‘lsmocro’lm%e:go auilselasmmolealss’ m@'l_gd.

B:-The Green Revolution primarily focused on promoting organic farming
methods and reducing chemical inputs in agriculture.

a0@lmallgjal @odle:200 ©DM@ MBIV HEORA ol Bl@BUd GJoETVIClAflEBmMd@ime @wilnlcd
roocmmagces)(rﬁ BOQMNMRA0ETT).

C:-The Green Revolution resulted in a significant increase in wheat and rice
production.

an@lmallgjale cwomMIBeo®e. EREIYESQe O@IBMOMIE MR AIBRLMAINM B:EEMAOS.

D:-The Green Revolution contributed to an increase in agricultural productivity
but also led to regional disparities in terms of access to technology and benefits.

a0@lmAllgjale @Badle ©@IaloBM AIBRLMNY H:0EEMAIW, afMIBS TLICB:GIBAIGIYOSW.
@R DLEBBBEOSQo 2IRBOWI® ©JOCRUBlE: @RMVAMIEBRUIELS B:0EEMAIWII.
Correct Answer:- Option-B
Question20:-Which of the following crops is known as the '‘Golden Fiber' of India ?

©269aj0QMAI@ oR@ Q8w ADIWES CNIWBALM EEANENIA afMCIWSASAM@Y ?

A:-Cotton

@O

B:-Banana Fibre

QIOPMID

C:-Wheat

oMl

D:-Jute



al6Mo
Correct Answer:- Option-D

Question21:-In which landmark case did the Supreme Court of India, while
delivering it's verdict, State that "there is no anti-thesis between the Fundamental
Rights and Directive Principles of State Policy. One supplements the other" ?

aR® MYJWIM BV Qllw] aloemioosmy, M MYaflesosd " eamals @OQUSHVUBEBREe MI@EFUOH

O O16BBGo ol alaeomois). 8o aeQomlm ajesa0em." agam aledadud] 4oy ?

A:-Menaka Gandhi Vs Union of India

eamad oMWl VS @eml@m 0.0 eoamy

B:-Kesavananda Bharati Vs State of Kerala

GHURAIM™M @MY VS CHO8 MIo(MINIMo

C:-K. M. Nanavati Vs State of Bombay

6)dh. aff)o. M@ VS @6nideeent ruerundmMe

D:-Nirmal Singh Kahlon Vs State of Punjab

M@ ot a0 @106 VS alerauoent ruomundmoe
Correct Answer:- Option-B

Question22:-Tarkunde Committe, Dinesh Goswami Committee and Indrajit Gupta
Committee, all investigated the same issue in India. What is the common subject of
inquiry examined by all these committees ?

@oA&Bee: Handl, dlemud’ ewomuiodl &adldl, sp3eElE Yol BHadlldl agaT Gadldle:esei0. soamiOieal 6@
M@WOM (Y@M’ alom Qllew®aoESl®. 0D Hadldle:ud af)glde HAIDANW' al@lEwBIW],| GREMIAUEM
Qllati@o ag)amoerm’

A:-Electoral Reforms

EDQIHUM l@loYOEaRU3

B:-Freedom of Press

al©@ LAY
C:-Women Issues

MJl>86S (JygeaBud
D:-Globalisation

@1)BUNIBQUDIEO6Mo
Correct Answer:- Option-A

Question23:-With reference to the writ, Mandamus, consider the following
statements.

1. Mandamus literally means a command or an order.

2. Mandamus will not issue against a private individual.

3. Mandamus will issue against the President of India.



4. Mandamus is used to order the authority which refuses to perform a public duty.
Which of the statements given above is/are correct ?

20MBawamy’ Glga0@ MIMWEe]S MIOLYORYM JTNIAUMBUB al@lWETEES:.

1. 2omawamy’ agam aiBe MIGIMRIEAIW] BRAMONIEBIMND® BN BRELIEBIITD BB agf)NOENT.

2. 200BWAMY MUIB0EY QAUBDIEU3ES ag@ileo® ajoenlsallenomoniley.

3. oM rilawadtlemailedw] amawamy’ ojoeqgallende.

4. 6a10® &sn MBQYOlEId allcrum@ileaom @pWle:06@le:e89S, @R MldlnnemM@mIMo] momawamy’
DalCIUTlERMM.

&l M@BHI@EBIM JTYIAUNHSITB BN WBE

A:-1, 2, and 3

1, 2, 3 oo@o
B:-1,2 and 4

1, 2, 4 0o@o
C:-1,3and 4

1, 3, 4 oo

D:-All the above are correct

Bl N@BHIDEIEHBM af) o0 @JTRIUMH:Eo UEIWIE.
Correct Answer:- Option-B

Question24:-Consider the following statements with regard to the duties of Election
Commission of India.

1. To prepare electoral rolls,

2. To notify the dates and schedules of elections,

3. To grant recognition to political parties,

4. To advice the President on matters relating to the disqualifications of the
members of Parliament.

Which of the statements given above is/are correct ?

soamylen! eIl GotllauB3e0 _q;m«»elcﬁaggmow'l NITWHOS IO JTYIAUMGUB al@lW6mleRs:.
1. cas@ agle: ®mQI0IERH,

2. dleesomga] OO BSo HHWIBBSo (JUdallens,

3. @2l a10AZlE UL @ooUIlEr00 M@,

4. andeeando’ @oEBRBOS BREWINIOQRIW NIMWES BI0BREIE EYaITIOW DalCBUTlERH:.
268l N@HIDEIEBAN QTROAUMBEI® BT @l ?

A:-1, 2 and 3

1, 2, 3 oo@o
B:-2,3and 4

2, 3, 4 0o@o
C:-1,3and 4

1, 3, 4 oo@o

D:-All the above are correct



Q&8 NM@BHIE@IEBTN ag)ajo @TROQUM B0 PEII6ENMY
Correct Answer:- Option-D
Question25:-Where was India's first Constitution park inaugurated in 2024 ?

2024-@ spamyilen) @oEecm REEMARISM ald@Es 9EALISM. 6.AQRM agalleswosm

A:-Hyderabad

£6)a0BEMIE

B:-New Delhi

mécw(o%noﬂ

C:-Pune

odem

D:-Bhopal

GEIJO®d
Correct Answer:- Option-C

Question26:-Consider the following statements with regard to the Responsible
Tourism project in Kerala.

1. The Responsible Tourism project was launched in Kerala in 2008.

2. Responsible Tourism aspires to foster better economic benefits and the wellbeing
of local people and communities.

3. This project focuses on theree aspects: social, environmental and economic.

4. In 2013, the responsible tourism project in Kumarakom received the Ulysses
Award.

Which of the statements given above is/are correct ?

CHESOBINL! OOEUIGI®™I §OIMo me»@ﬂ@@(ﬁs;cﬂ_n%gg @IOLA|OQY @JTRIAUMB U al@lN6TTER S

1. 2008ensm’ somead®! $GIMe AlRLTIE EHESOTIM DSEe EERMM®).

2. @oeBwWlH: LBMNEBEBOSQo TVPaNEBRBOSWJo CAUNYo D9IOS LI EMS6EBRSo QUSROS ERH
) M@ DOMEQUIEITID SOITLEDIBEO BlBHo.

3. Mgadye ald@lMA@IlE:0 MUIMICTIEBARIW GME BHOBYERUIERION DD alRLDI (OWIMYe MMEIBAND.
4. 2013 @ soese0cm pomeandlon galme arvdles gelomy @randa aidl).

&l M@ GNLBM (TYIUNBEI@B BN L@

A:-1,2 and 3

1, 2, 3 oo@o
B:-1,2 and 4

1, 2, 4 0o@o

C:-1,3and 4

1, 3, 4 oo

D:-All the above are correct



Q&8 NM@BHIE@IEBTN ag)ajo @TROQUM B0 PEII6ENMY
Correct Answer:- Option-D
Question27:-The new Chairperson of Kerala State Human Rights Commission

BHOS MVMMLAIM AMAHPIQUBIWD HIRHBOO oJOIQ @RWIBHUMD

A:-Justice Alexander Thomas

@a;gﬂm” me@omd MoV’

B:-V. Geetha

all. Ko

C:-Jusice M.M. Pareed Pillai

LAY ag)o. afle. al@lE allss
D:-Justice Antony Dominic

AUV’ @Ryadoerml eawodlmles
Correct Answer:- Option-A

Question28:-Consider the following statements with regard to the Kerala Model of
Development.

1. Kerala model as a set of high material quality of life indicators coinciding with
low per capita incomes.

2. Amartya Sen and Jean Dreze have long championed Kerala's development
experience in their numerous works.

3. John Ratelliffe showed that the causative factor underlying Kerala's social
achievements was Social Justice.

4. The main cfriticism is that Kerala Model has not created enough jobs, leading
many people to work abroad.

Which of the statements given above is/are correct ?

eHE8 Qlle:TVMm 20YHOW &HOlgIS8 @INLaJOQYMM @ARIAUMEBU al@lneNlEsd:.

1. 0600 @ollday aImEIMaRI] HaRElTmeSM dAM eEYTE Halom dlaine myasmrses
BO &SN CHES QlleHaVMm ROQE:.

2. @R2A®mY &MV HlMEUlmyo oenges Tleadw] &@legres eaeseDlaeo allemumomeecm
QISEEENIRINIW] oJ'I@éTT)gj%mg“.

3. ee8ODIMBO0 Mogasls: EMZERUBLS @RSITUNOMAIW CaISE. MIGadls: dlalwoesman’ emoem 0og
glan @apoailesme.

4. 6508 cRIW@ @RAIURITTIMN O@IFIRINIMEERUE MYl sfslegims. @ aleaus] AOSHOS allesueom
emoell 210 cdlaflmesaimmeadem’ @wam alladueme.

&l @B ENEBM JTYIUNBEI@ G@I6M L@

A:-1, 2 and 3

1, 2, 3 oo@o
B:-1,2and 4

1, 2, 4 oo@o
C:-1,3and 4



1, 3, 4 oo

D:-All the above are correct

B M@HIDEBM af)gld @TRIAUMEBEo @I

Correct Answer:- Option-D
Question29:-The only Regional Rural Bank from India included in the 2024 Forbes
list of the world's best banks.

2024681 ¢anddenimny’ 2omile:Qes CRNGODIeR! a@Q0je Xl NOBBBHSOS alSlHOod gso emslw
M@ VMRS aRld JOCRUWBlS: NIAEM ENI0E:

A:-Federal Bank

®aNCUOO 6N1UISDs

B:-NABARD Bank

MENIDABAW 6NI0H

C:-Kerala Gramin Bank

CHOS (NI enI0ss

D:-Malanad Rural Developmet Bank

@2IMIS’ (YIAQTECrVM NI0E;
Correct Answer:- Option-C
Question30:-Following option is not a type of system software.

MO 630alatB B@ @@ VYo GV HAUWD @M.

A:-Windows

allmdecwomy’

B:-Linker

ellead

C:-MS Excel

ag)o. af)MVU. af)@s@d
D:-Loader

6anWwa@
Correct Answer:- Option-C
Question31:-Device that helps prevent congestion and data collisions

@B WIQ @SlulsIQe SO TVANIVIERBM Dald@6Mo

A:-Proxy Server



Glogyl &TLBAIB
B:-Switch

aolla]
C:-Hub

D:-Gateway

csmg“ e
Correct Answer:- Option-B
Question32:-IT Act, 2000 is notified on

eags! @@, 2000 allmemoaimoe 6.1y

A:-26 Jan. 1999

26 mm. 1999
B:-15 Aug. 1999

15 sown. 1999
C:-17 Oct. 2000

17 sego. 2000
D:-10 Jan. 2000

10 =m. 2000

Correct Answer:- Option-C
Question33:-The National Awards for e-Governance 2024 were conferred during the
27th National Conference on e-Governance held in which city ?

AR® MWEOEDIT MSMN ED-UNEAUEMMMY MVeeNITWlg| 27-:00 0@ e3ule quemamomiensmy 2024-mas
- (NEAIEMMMY @RAUIBRBHU IE] 4@

A:-Mumbai

Qo6O6N

B:-Chennai

6).216)6)(0M

C:-Kochi

9]l

D:-Delhi

QW@3a0!



Correct Answer:- Option-A
Question34:-Which of the following is an exemption under the Right to Information
(RTI) Act, 2005 ?
2005-62! alaeoaimoe dmlon. (@rdsleany) @ei0a88 osal smlajo@mmad ag@mosm
A:-Information that would enhance the financial accessibility of government
departments
VAREHIA QBSOS LOMIEBIE (@JEAM MA@ QIdcUlafasam allaiesnud

B:-Information pertaining to deliberations at cabinet meetings

2@IMUEIEINEREINR! 2lB.ojd8m00] NITWeq)s QllieeeRud

C:-Information that would impede the process of investigation

@REMIAHEM (@GO OSMOSEDM allaieaBud

D:-Judicial records of the appointment of judges

BWH20mes MaoIBe0 BaUlauUi®d CEEIGU3
Correct Answer:- Option-B

Question35:-Which of the following statements accurately reflects a right of
consumers under the Consumer Protection Act, 2019 ?

alERISY Mo@BMem Mla. 2019 waoegss DalCRISDIDSEOS GRAIBINED BRI
@@lanallaflesam @TOAMB:U  ag@aeny

A:-Consumers have the right to demand unlimited returns on all purchased
products without any conditions.

DalERIBMIB UL WOBMIG MINIMWMEGSARIO® QOB af)gld D@ajMesBglaje aldlwligom
QIGBAIMo BRHQUUBIBSIMSE GRQIGIVOYETE

B:-Consumers can only seek redressal for complaints if they have a lawyer
representing them

DalCRISMILUL MEEROS DIMIWIB:GCl,] B GREIRIHUMHM DOMMREIT MI@ED AlEIDIBHUIES al@laDI®o
CMSOM HYIQY

C:-Consumers have the right to be informed about the quality, quantity and
price of goods or services before making a purchase

QeERM@IM gmi MOOWMEBBBOSEWI EMVAIMEBBEESEWO wemmlelan., @RsAl Allel ag)MlIeERC 4]
@ROIQIEDIM DalERIBDIUBE @RUEIUDYENE

D:-Consumers are not entitled to compensation for damages caused by
defective products if they have used the product improperly
DalEBIBMICUS O@a]Moe HDMQOWS] @mc@om’lg’lgammﬂm‘&, CHFaldg MVoROllgl OM@alMEBBRUY PRIPENBIB:aM
MOUEMAYEBRUILE) MY l@laNIREIM @RBaO®mEIIL|

Correct Answer:- Option-C



Question36:-Which of then following statements accurately describes a function of
the National Human Rights Commission (NHRC) under the Protection of Human
Rights Act, 1993 ?

1993-6a1 20RO MeeEUEM MaTIM Gl¥less cEUBlw amaHPAIG:I0e Gatlaum (NHRC)
QS B AUBCHMEO GRS AlAIElEBM @MOAIMBETS a@G@o6rm

A:-The NHRC can impose penalties on individuals for human rights violations.

DOVAHOQUBHIUD LloCRIMEBRUBER QUBTIBHUBER all® 2JaE®IM af)M af)e] @RABMVIES &$lQo.

B:-The NHRC is empowered to investigate human rights violations only upon
receiving a formal complaint from a victim.

DEWIB MMM B8Dalal0GlHAIW AlEIMIIEl LT AI@ED AMVAHLOQUGHIVD LloCRIMEBRUB @REMIHIENIM g)0d
af)al @RAMIlEs’ «;rowﬂa;oeq;@%.

C:-The NHRC can recommend measures to prevent human rights violations
and promote awareness of human rights issues.

DDAHPOAUBIUD RloCRIMEBRUY GSQYIM Mo BAVAHUPAUMIUD (JURBREOSHRC|JSS @OAICETIIWo
GOV IOlalEBRM@IMRYSE MSaISIHUE af)B af)a] GRHBIVIES WaldBUE 621QYIM BElQ0.

D:-The NHRC has the authority to directly enforce laws related to human rights
in India.

D@D croo%omoe)ouomgmomﬂ NITWHAI5 MlaEEBRUd eMEI5 MSaflelnemdm ag)M af)al @RAMSles)
@oWIE0006MNE

Correct Answer:- Option-C
Question37:-Which of the following statements accurately reflects a provision of the
Protection of Children from Sexual Offenses (POCSO) Act, 2012 ?

2012-601 061Ulle: &:gemismERglcd dmlmes HS BSOS MVoEBHEM (easneg0) Moaooideo e
QIQIMNINE® OMla]OQMM ETPIAUMBENT H@§20W (B lanailaflasmma) agmosm

A:-The POCSO Act allows for the trial of cases to be conducted in any court
without special provisions for child victims.

DOBSOIW HSlBUBEIW @E®iH AUITUOBEIRIO® aB® EHISTIWj CHMYBEeS QllaldEm MSOmOM
Galoeo Mlwa. @rmAIGleBMe

B:-The POCSO Act mandates that all cases must be investigated and tried
within a specified time frame to ensure swift justice for child victims.

DOBHSIW EHSlBUBE @RDIEAN M DOAIEIM afeld CHMYGS. 6@ Tluaile TR aldlwlesgsod
@REMIHlEBHQe AllaldEEM 6.21QHQ H2IQPEMERMY GaldERI MWao @PMURIMSlEsMo.

C:-The POCSO Act permits the disclosure of a child's identity during legal
proceedings to ensure transparency.
YOI @o%m@@mmﬂmo@l TNRamsaISlegl@d &5leges aguadtldl OUEleqgomIM aldeg:o

M. @RMAQIGIERME.

D:-The POCSO Act requires that consent from children under 18 years is valid



in cases of Sexual interaction, provided they are in a relationship with the accused.

18 cqio’ eoevgses HSBHSOS TVEB®o, @RAIAR @JOHBHE20W] IMLOBIRIEME|S, eeRlUls:
ENITWOTEB RBEIFEMIOU BRAIMGHS LA MIWDMWBBEIOEMNATY GaldGEH M. BRYNICBIOAISMP.

Correct Answer:- Option-B
Question38:-Which of the following statements is true regarding the recent
developments in the Indian economy as highlighted in current affairs ?

MM rumMIG AIIVAIIBR! MUdlald:dR! MEAIAIE:IMIEREE MUNIMWly] MuaG:Rlle: BIYEREI®d
af) ST HO6MIEBMN OTOQAN @TRIAUMBESIEB aG@06m’ wdl

A:-The Indian government has decided to abolish the Production Linked
Incentive (PLI) scheme for White Goods due to lack of interest from manufacturers

WIRIGILHSOS OB EIEBOAL B:0@6Mo HOAIY YWIlMEEs elajorweHM allesow’ spadeauadslal
(aflog@eag) alevd] dldomeanenom omyd MBI Clamaoly).

B:-The Indian government has selected 24 companies under the PLI scheme
for White Goods, committing an investment of Rs. 3,516 crore.

06alg O WMo allag@eag aylalay’ &1l oamym@ qudendd 24 snimls.es clesstmgem. 3,516
8® S| BalQYOS MleBHalo.

C:-The Indian economy has been a decline in foreign investment, leading to a
reduction in job creation.

samyB rumid aiIcrLAEl@d alledue Mlestalmrsl@d oslal (TUo@O.ﬂ_f%. DD HDISIRIQIMLEEBRUD
BHOQMDIM &HIEEMAOW.

D:-The Indian government has announced that it will not pursue any further
collaborations in the FinTech sector

adlBess caaIRIRlEd &FMB MVaDB:EEMEBBUE DSEERIMT SDAMYNB VALHIA (cyeu(goqjlad.
Correct Answer:- Option-B

Question39:-Family engagement is considered essential in early childhood
education because

W allaPEPIVOTIT BSENITTIBHO alEBISEOMo WIMAET. af)TDEEGINE 7

A:-It enables educators to integrate family culture and values into the
classroom and fosters personalised learning.

HGosNIOBIBEO TVMPIRYe PRIEERS. LMY gdleflealss” MvamIViaflesmailm. asBlln® aloms
BoETVIAClalEBRM @M. @PWIAIG:E® (TVaNIWSEBM.

B:-It allows teachers to implement standarsided methods across different
family backgrounds.

@RWIIEGLS QMM EGetN! aluRUCMEIBESIE Mlomaomaldas) aee ClOIulass 60046803
MSa oI B FIQ)o.

C:-lIt encourages educators to guide families toward adopting a uniform
cultural framework.



BB MVIMIEH BOQYHWICRIED @HFENIBRES MM @PWAIHE® TVaNIWEBw.
D:-It reduces the need for collaboration between families and schools,
maintaining clear boundaries.

QB0 BR@IMBESU WRINBODIEEENE B:GesnIcEREs TSHEe MEIBISS MVaDB:EEMOIBEO
@RYUURIH® DD B0,

Correct Answer:- Option-A
Question40:-According to regional adaptations which of the following is the primary
focus of the curriculum in pre-primary educational institutions ?

@JoeBUWle: @RAINERUS aldlnemlsf afl-eeEad] allepEPM MVOdAIMEBREOS aldOKIRLTIWES Q6uy LIBH
2JQIOS AlOQMDITD af)IE:EMo ?

A:-A uniform syllabus for all regions to maintain standardisation

af)0fISEmo aRBlB@6Moe HOAIEBMTIMOIWV] aRBlGH® ald0YnIRLGI

B:-A syllabus designed to align with the local environment and community
needs
@oeswdld aldlmudloilgie MVGOOBTIMBEOR. @YAILEES. alBlWETla] BalOqFEDMN ald0kIRLGS

C:-A syllabus focused only on academic skills

@REIBAE HPIQYBHUBES M@)o (JOWIMYe MN@IB:M A ld0KIRLD

D:-A globally adapted syllbus without regional inputs

(@JOCBUAlGHRIW @ROINYBHUB BFIUIEBMM @RYEUNIS RIS TVIlE:IRIRNIW DO IRL®
Correct Answer:- Option-B

Question41:-How did the contributions of Christian missionaries to Kerala's
education system significantly influence its socio-cultural tranformation in the 19th
and 20th centuries ?

19 90 20 9. ®QreEs-Elmd cmeamDienl TVIgatle:-M2MYIABE: aldlgomres GITRIM dlaumdlaomes
QllBypEPM AVRIAIMB:UB agiErem auoulmlyy ?

A:-By establishing schools and colleges to promote modern education, offering
science and English to all communities.

IR Moyflat QllBYERPIVG aggjoaides. rIElEIM @RWMH: AlBPEPMV. EejomOaGla]lesm MmSes.
EHCSBMHGo MUNOAlg).

B:-By maintaining educational system to preserve caste divisions and reinforce
hierarchies.

20©) allemme M.eslERM@IM0. @RUWIG:0EEWDM] tosmloasemmdiegss allaiorim mu.allwomsenud
mlaimldorm

C:-By focusing only on reglious teachings, neglecting the inclusion of modern
scientific methods.



D@ IOMO@S D@0 @ralﬂ_gds)oe;am“ I AlBIBHU8 ©UBEAFIMNEY mmmm’lad.

D:-By limiting educational opportunities to Christian groups, excluding other
social communities.

allagoePm @RAIMEEBBUE HEEGTRAI TVFPANERUIES BODe AlClEIMEAISTDGQ0 2Q MLGOEBROS
B39l HQo 6).21Q.

Correct Answer:- Option-A

Question42:-What do you think is the main duty of an early childhood professional ?

W allaPEPTL AIBTMGBOS WIM YYAME! af)MIOEMANIET (HlERUE HHBDMNE?

A:-Ensure children memorise academic content

S3lB08 @RENIGAH S OBBSEo AM: AIIODILBMOOENRMT OOAJIERD

B:-Soley interact with children without involving families or communities

B10GotNIEEROSEVI (TVPaDEBROSEWI DUBEFOMIO® B:SlHE0W| 2O@o DSalPE:®,

C:-Maintain strict discipline without flexibility in teaching methods

@RWAIM AlOHEI0d AIPHAROOD HBUBMAIW @ 4SERe aldallesd:

D:-Support children's holistic development, including physical, emotional,
social, and cognitive aspects

H5lg6s dElEl::0Jo HOUBIBEH:NY MVIPaSlE0j EOALEMIM|HAYDI® VAW AllB:OTVEOD AllgemE
Correct Answer:- Option-D

Question43:-Which statements align with John Dewey's philosophy on the
relationship between education and democracy ?

1. Education is a tool for fostering democratic values like equality and freedom.
2. Education should prepare individuals to participate actively in democratic
processes.

3. Education emphasises standardised testing to ensure societal equality.

4. Education discourages authoritarian governance by promoting critical thinking.

aflagepmuge Bmowlalmiaj. aile)ss mIMLecmE3clyes 2omd WLIlQes Mol 4aes aloQmm
BB QTRIAIMGHS2IW] HaLBOMOIFMo ?

1. allzypepme @eaine MO 6alia)es BMIUWlal®) GRIERUE USRI RT3 Dald:EEMAOE).

2. allaypepaie alele:es BMIwlal®my @@ rLEHlNnIQ] lEsSle:s0E08 @QIOIEEMo.

3. allayPEPIMe aBHAIMBaIBlEUHOS GOVl fleBme, MIAeS VGOOTIeRI DRI® OOIERMo.

4. allepepav., alladwemocns: slamalges emulgowlaimy cREMEOOD MSQID.

A:-1,2and 4

B:-1 and 3

C:-2and 4

D:-1, 3 and 4

Correct Answer:- Option-A

Question44:-How does Developmentally Appropriate Practice (DAP) contribute to
societal progress in preschool education ?



Developmentally Appropriate Practice (DAP) @Jayud aflepepaocmiea muogadls ajeeondiles
af)0B) (MERIQIM MTIB:MD 7

A:-By prioritising standardised testing for measuring early childhood success

flpud Qllzoe @EHIM BOME:aIBlBHEUBEs FABUIEMM MTDL:M0

B:-By fostering the holistic development of children, including social and
emotional skills

HSBHEOS MIGaClH0je HOAUBOGIBHAYROW AW AllETLMEBIM @OWIMEP MM

C:-By focusing soley on academic achievements in early years

(@0 QUBHEBRSITd @REHIGAD: CMSEERSIT Mo CH 3@ (AUBOMIERM

D:-By limiting learning experiences to structured environments

HBUMAIW aloM alBlTVEEBSEIGE AlOM GRMERAICRES alGlAlMe ST
Correct Answer:- Option-B

Question45:-The main difference between the educational philosophies of
Montessori and Piaget regarding child development and learning is

HSlHBOS UBAB2OWQP AlOMEOMQYe MVNIMWl4] ER06MEENVICIYESR. allwieatQesyo Aoy
2108 ®le|8s @JWOMm QUKLOMo

A:-Montessori - Emphasises sensory experiences
Piaget - Emphasises cognitive development

GRO6MEEIYI0I - O@IWONEAIBRUBES (@J0WIMLe M@BL:TTO
all@oent - §OAULEMIMIB Qlle:TOMODIM (JOWIMYe MT@E:MD

B:-Montessori - Promotes symbolic thinking
Piaget - Promotes group learning through social interaction

G@06MEEMRI0I - allamocad: alla® eejooroadlaflesaro
all@oeay - MVIgalle 0SeaISAIRIeS &Fe:ST AloOMEO® GJodTLIaClallesmoe.

C:-Montessori - Emphasises teacher-directed learning methods
Piaget-Emphasises cognitive development through independent learning

GROEMBEEMRI0I - @RWYAIE: MIBEGUWI® AIOM@ICIEUBES (@JOWIMYe MTIE:To
afl@oend - CLVICED IOMOVIEOS HOAUDEMIMIE: QllETLM@DIM (@IUWIMYe MBIE:T

D:-Montessori - Emphasises structured learning environment
Piaget - Emphasises natural learning

GROEMREIYIC] - CAISMIAIEAID AlOMOIMGIBUOHIM @OWIMe M@BH:aTo
all@oea - MVIERIAIE: AlOMDBIM (OWIMLe M@IB:M
Correct Answer:- Option-A

Question46:-Which of the following is an essential skill for early childhood educators
?



®96¢ aloQYMARI® (f-e6Ead] @RWIIAIGBER ONRICH:TR @PMIAIENIT &$Ial

A:-Technical knowledge

MLICHBONH AlBIEHIMo

B:-Observation skills

MIGleyeM ©OQUBUYo

C:-Solely focusing on curriculm

AloOalRL@IVIT BI@o YBRL EHO3B:EIEBAUIMSBS &$IOT

D:-Strict adherence to pre-determined teaching

&HOUMAIY @RWIAIM Bl@E:ud
Correct Answer:- Option-B

Question47:-Why is cultural competence important for early childhood educators ?

@J-06@ad] @PWAIBAES TVITVIRIGRIW BFIQHUE OSBAIGI:EMo af)TDEB06MTE

A:-It helps them create a standardised approach

af)gfd H5lHe8Qo alClafleBmM@IM 8@ 6ald® TudlaiMe MYaUlEBAIOM

B:-It ensure respect for children's diverse background

cesg'loeagos 6QIQNWRIBMM AlURUCMAIBREBISES @VREN USBTDUIM

C:-lt eliminates collaboration with families

HGoNIBRSRIQES TVANHEEMOTITHO @IRHAIUBIBD® EDRIILBUID

D:-It enhances academic success without considering social factors

LGN} CRISHEERUY AlGBINEMIERIB® @RERNIRAG QRO YBRL CH 3B @lEBAIM
Correct Answer:- Option-B

Question48:-Which of the following factors are essential in the organization of pre-
primary educational institutions ?

1. Trained teachers with expertise in early childhood education.

2. Safe and stimulating environments for children.

3. Focus soley on academic achievement.

4. Provision of age-appropriate learning materials.

f-06eadl allepEPm MVOdAIMEEBRSOS TVCRISMOBIE MIBFRIVWHDIW CRISHEERU G
@odle QlBEPMLEBITE QleULAI® alBludlaIM. aIElyl @RWYIAIGA.

&Sl U3 MYOBHD®Oo (@JE2I0BMICDGQYRIR) GRANG]EHo.

@REHIBAS CMSOMIT BI@o UORL CHI3lE@lEHTI.

QOQOBIM @RMEWIBAIW AlOMAVIAUIGHEES LIRKD.

-l N

A:-1,2,3and 4



B:-1,2 and 3
C:-1,2and 4
D:-1, 3 and 4
Correct Answer:- Option-C

Question49:-Assertion (A) : Government agencies like ICDS and Anganwadis play a
significant role in pre-primary education in India.

Reason (R) : They ensure nutritional health, and educational support for young
children and their families.

@RQIBGHIVOUIRo & BafMVlWlag)MJ, @REEMAIISIHUB BalIR88 MUBENIB aBRMMUlE:u3 DM@ -
06Jadl QllBHPERPIVOBIT (WIM «lls QlaOlEsMD.

B06Mo | DQIDIIROS BSldUBER. BRAIMOS E:GoENIBRUBER. BaldaHBInNIPo, @RYERIMY Mo@BHEMo.,
allayepay allgmem agarlar oqjossmo.

A:-Both A and R are true, and R is the correct explanation of A

@RQUEIURAUIBNYo EIPEMNYo LBBIWIEM, ESIOD EI6Mo UIBTTIMBHO VEIWIW Qllvddle:EeMmaoem’

B:-Both A and R are true, but R is not the correct explanationof A

@OAUHIVOUIBOYo HIOEIMOYo PEIWIET AlGHH HIGEMo QIIBOTIMBH0 WEIWIW Qlledle:eem. @rog

C:-A is true, but R is false

@RQUGHIWBNUIBe BBIQIE, AlGHH HIB®EMo QO

D:-A is false, but R is true

@RAIHBHIRAIIBo H@QIEM), alCHHU EHIB6Mo Al
Correct Answer:- Option-A

Question50:-How can inclusion be promoted in early childhood education by
addressing the diverse cultural and social backgrounds of children and their
families ?

Wl QllaPREPILETIT G:SlHEOSYo BAUMES EHFENIEREESWY HEAUAINWIRIBMN MVOAPIGIBOYo
MIGaClEQYRIW AlURIITRIBRUB ag)BROM OUBOISOTI MSalodmdo ?

A:-By creating classroom activities that reflect and celebrate all children's
cultural identities

S5l BSOS MIaPIEle: OMaBes Olnoelaflensge e aaUlEEsQo 6.a1QQmM %O(TEO(]CB:G%O
QUBOMMETBEG. (MYagilasamo

B:-By standardising teaching methods to avoid cultural differences and
mainatin educational neutrality
MUoPIAE: QAUMIPMVEEBRUE BFANEGBQ. All3RPEPMY AT agdle® IR MlaITldEDE Q. 6210
C:-By encouraging children to adapt to dominant cultural norms to ensure
uniform behavior and learning

ARH|DHODIW 6a®BRIQo, al0OMo af)MIQU OOAIERM@IM (@JNILIMIW TVIMYIG]E: BIMBEMLEERSROW]
6a@BOMOSIM TVaOIWEBM



D:-By limiting diverse discussions to reduce misunderstandings and prevent
potential conflicts.

@@gﬂ@»oc@mo&go (@JUQEBBEo a89101060000 6©6QllwdIBM 2Id41e:08 aldldmen|goao
Correct Answer:- Option-A

Question51:-Educators can effectively uphold the principles of the UN Convention
on the Rights of the Child (UNCRC) to ensure children's holistic development and
participation in their education.

UNCRC qes (oeagﬂcﬂagos mm@oc@megmo’qujg@ QoD BHEIB) ODIERUD (@JoQIBTBHA0LBM @Y,
HFBEeS MWD ABBQ. AllaRPEPMETIRSS aBIEITMJ POIEIM BRWIAIBOO (@JOGEILRMD

A:-By actively involving children in decision-making processes that affect their
learning and well-being, respecting their voices and opinions

HSHBOS alOMOTOWo CHHASODMQo NIl TlmameEsglcd @oaee qualamdwl] pudeqagoms,
@RElJOWEERU3 moaﬂ_r%@daaomg“

B:-By strictly guiding children to follow rules without considering their
individual preferences or perspectives

HSHBOS QBTN IRJEERUS alBlnENIEHINm HOWWIW MWRGERUY oJBERRIV aloailenom
GJ@laflesd

C:-By minimising children's participation to maintain uniformity and discipline
in the classroom environment
€BO(MNUQo @0 gJSce MRITIBOmOD @ag']oe:gos @ I8Ome al@ldlmen ST

D:-My limiting children's independence and emphasizing complete reliance on
educators for learning decisions.

HSlBHBOS MO MleatWla), aloMY20W] NIMLE]S af)alo TlmaOMERElRj @RWIAIHEITE odern
@M. Gejoorudatlaflesmailges

Correct Answer:- Option-A
Question52:-The key strategy used to modernised Kerala's education system was

CHESOBINA! QllEEIPM QANINLNOW @RYWMIBHAIEHIM DaleWIUT 4| (WIM BB agaoy ?

A:-Restricting access to modern education to urban centres, leaving rural
areas dependent on traditional methods

WIDERWEEROS alP® QllBLPERPMY AlBIlB:al®d Mlaimldem @RUWMIG: QllEPEPM. MW ECRUEEREITd
B@EB)

B:-Preserving the caste-based exclusivity of education while introducing
modern subjects like Mathematics and Science

20@) @eslmunomosiiejss allapepm P Mlaimldo] VemlmwaTys, VBITYe CalIAISS @RYUIMIS,
QllaeERud @RAIGGlA]lg)ed:06nE

C:-Establishing an inclusive education system that provided equal
opportunities for all communities and emphasised secular and scienfic learning



2)gJ0QIAER @AIAIWQ @RAITVEEERUE MTBBQo TVIMYIGIEBYo LVIMYIVAYRIW AlOMEBIMY @JOUWIM
M@B:HQo 6219

D:-Focusing exclusively on religious instruction, neglecting the integration of
Science and Secular subjects

2OIOMOTI@ WAL EH3lE@la] VBIMY-TVIMPIAH: All-HUWEEROS @AM |a]
Correct Answer:- Option-C

Question53:-Match the following Indian Philosophers with their contributions to
education :

List A (Philosophers)

1. Mahatma Gandhi

2. Rabindranath Tagore

3. Swami Vivekananda

4. Jiddu Krishnamurti

List B (Contributions)

a. Promoted education as a tool for self-reliance and moral development.

b. Advocated creativity and nature-based learning with global awareness.

c. Emphasised holistic education encompassing physical, mental and spiritual
growth.

d. Encouraged free thinking and experiential learning for life.

®IOLIORYM EDAMKM BIBWTB60 @PAUIMES AllBRPEPIV MEINIMEGSRIW] HABOMEIFIDS;.
agle A (Bodwmlead)

20O NIMWI

eallg3moln soenod

avsodl allealgomazad

g @oygdom

aisle B (auoeoimeud)

a. MIWoalPP®Ro WIBAlE: Qlld:0mMEIMe @B QllBPEPIV EOENIaCla]l,).

b. cvdwocae:ap @Il @RUWIH®R0Q @RHEUNIS ENIOWAPSS IOMAIT @aJ(a'ch'Lgd.

C. 1odlEle, BOMMIle;, EREUHW AUBAB4 PUBEAFIM MAWRIW AllBYPEPM. FEMIF Qlg).

d. Mo ltoge @pmeAWIHIm?RIW alomaj €aJo@nIallaflg).

A:-1-c, 2-d, 3-b, 4-a

B:-1-b, 2-a, 3-d, 4-c

C:-1-d, 2-c, 3-a, 4-b

D:-1-a, 2-b, 3-c, 4-d

Correct Answer:- Option-D
Question54:-What characteristic of preschool children makes play an essential part
of their education ?
AR}® (EDIBHOWIEN HEO® @‘]—0&)08 Sslages alspepmoniadec mldspowe @OMMIEBAMND ?

A:-The natural ability to sit and focus for long periods

dldcal muadl@mm’ EyRL EHMElGElIEIMEs MVIEICIBG:NIQ &lal

B:-Learn best through observation and activities

M@leemnOmIe)OsQe BSOS AIBCMMERSIRIHSQ0 dld g BBl alClenm



C:-Function only by following direct instructions

csm(a'lggg MIBERUREERUE @PMMIE 4] BO@o (JAUIBCILBMO

D:-Cognitive development occurs primarily through structured lessons

enjavlevocd Qlle:milesm@ @alg @Rl B@BERM ald06BRU3 QAUSIIEM
Correct Answer:- Option-B

Question55:-Which of the following are key features of an effective pre-school
classroom ?

1. Separate learning corners for specific activities.

2. Strict discipline to limit movement.

3. Child-friendly furniture and colourful decor.

4. Limited teacher interaction during children's activities.

anRl(e)ERIW @"l-cré)ub‘ O POlQYOS (JWIM (JEDIBEUE aRQl

1. udomMEERUIEIQ Q@MY (@QUIBODM ESEBRUI.

2. HSlges 60sleglamo adldlmeaqgomom eAduemadw mlde3uossBud.

3. WwWETVDANIBGalERIW a0@6mlajQd 80 Mloaj&lS0daN @oAIE:VE6BE..

4, HSlHEeS JAUBOMMEBRUBEISTIG @PWAIBMGOS aldltlMRIW DSEISEIBUd BI@o.

A:-1, 2
B:-2, 3
C:-3,4
D:-1, 3
Correct Answer:- Option-D

Question56:-Assertion (A) : Play-based learning is critical for pre-school children.
Reason (R) : It helps children develop motor skills, Social interaction and creativity
through engaging activities.

@RAQIEHIUBAINGE. - @Jl-aés)us &5l HSWIB8 BRUWIL®AIW aloMe MIBENIWER06T.

@006Mo -~ GHEIBUB 2lRIMAlERI® &FIQGU3, @YU AlMIa., MVBUWICAB® AU B:Sle>&Id
AlleaUlafleBinm ManIEBERIB:0.

A:-A is true, but R is false

@OQUBHIUONUIBo UO(O']Q)OGTDV, AlCGH HI6Mo G)(U)QOGTT)V

B:-A is false, but R is true

@RAIBHIRAIIBo HDQIEM), alCHHU EHIB6Mo Al

C:-Both A and R are true, and R is the correct explanation of A
@RAIGIWDAUIBNYo HIREMOYo LOBIWIEN, &BSIOM GHIPEMo @RAIGIWVAUIBOTINBOHO (PEIQIW
allvadle:eemmosmy’

D:-Both A and R are true, but R is not the correct explanation of A

@RAIGHIUONIIBAJe BHIBEMOJo VOEIWIEM AlEHYU EIEMo JTVININMYHS BAEIWIW alluadElt:e6mM. @oe)
Correct Answer:- Option-C

Question57:-Match the Preschool classroom features with their purposes :
List A (Classroom Features) :



1. Learning Corners

2. Child-Friendly Furniture

3. Storytelling Sessions

4. Group Activities.

List B (Purposes)

a) Encourages language development and imagination
b) Enchances cooperation and teamwork among children
c) Provides a safe and comfortable learning environment.
d) Offers specific spaces for varied actitvities.

@’l-aguﬁ %oa}go’l@gas (TUO.ﬂGUOOSd@cBJ%’!o @PROIYES DERUEEROSQYo B OMO|FTDE,.
aigle A (moallewasiamnad)

1. aiom ensearud

2. W® 6MVDa0IBGEAIERIW ~0B6M]4QEud

3. &0 al0@ HAVAUBHUB

4. 300 IBOmMEBRUB

agle B (oeguossnud)

. B0aH0 Qll&:TUMAJe HEIMIEUBHIQ GGVl ]lEB0.

. &SlBHEI8 MVaNHEEMYSS Slo GRIRINGUE 6D 46 STD.
MREBHD QYo (MYEUBEOYRIW AlOM @RINO!BHo BTBERNO.

. allallw @UIBCmMEBRUBES (JEDid o NORIBRUZ MM@IE:MO.

on oo

A:-1-c, 2-d, 3-b, 4-a

B:-1-d, 2-c, 3-a, 4-b

C:-1-b, 2-a, 3-d, 4-c

D:-1-a, 2-b, 3-c, 4-d

Correct Answer:- Option-B
Question58:-  was the main limitation of ancient perspectives on education in
India.
OMIeAI oJEIMM &IgalogHaled allapePMLEBIBHO WIM aldlalo)

A:-Equal access to education for all communities

af)2j0 MPaNEERU3ERe ®AIMOW QllBJELMIe HOAPEBM @GS BERL M|

B:-Caste-based exclusivity and limited privilege

20® @RSIMVOOMOTIGISS (JEDMIBONB0UERE. aldldl®en]s G@ROMERIEERS. MBI

C:-Prioritised technical and scientific advancements in education

allaypeEPMOBIEE MIEEOE:0) WITYIWRIW DSOAISEBUB GO0l

D:-Secular and democractic education for all

2EO®OYo BMIUWlal®§Ie20Q QllE1EIPMo Eajo@TVIGlaflg
Correct Answer:- Option-B

Question59:-Which of the following defines health as 'Health is a state of complete

physical, mental and social well-being and not merely the absence of disease or
infirmity" ?



@RYEEINIBAMIT CRINERAI BRUEENIBEIGAD DM @PAIMIN AR UBIBIBIGAIQe AIMMIIEBAIW.
M0gallH20Q 988 al@lof@em mymudlalwos. - @BEEINEOmEEClyss D MlBQLalMe @RBESMIET

A:-AMA

). afje.0f).
B:-CDC

adl. awl. adl.

C:-Biomedical definition

NICWIHALIEN®D MIBQYalMo

D:-None of the above

QHEIT A0S0 @L)
Correct Answer:- Option-D

Question60:-Factors adversely affecting physical health are
l. Violence against women

Il. Lack of hygiene

lll. Unhealthy habits

IV. Improper Nutrition

V. Family conflicts

MJleses 1wIAlAls: @RYEEIVITTIM (JOilEem0©] nOWIEBM CQISE:EERUE RO
l. ledes emeoewes @odl@asmmud

Il. @alondlgjom

1. @emoceInieEa0w Walmrud

V. g0 Galoauems

V. 35060 HRIaO6BRUD

AL L L IV and V

L, 11, 11, IV and V
B:-Only II, lll and IV

I, Il and IV ao@o
C:-Only I, lll, IV and V

[, 1, IV and V oo@-
D:-Only I, Il and V

[, I and V oo@eo
Correct Answer:- Option-B

Question61:-Which of the following reasons result the complications such as
abortion, lack of adequate breast milk, birth defect, injury to the babies internal
organs ?



1AdE 2aIMmS Palaoal@e0 @RI VMW HOAUMBHAIEERUE, HEINTEH0 @RID@|EHINIAIBRUBLS HHUDo af)aT]
£OQIHNEERUBL HIBEMo af)0v)

A:-Consanguineous marriage

enInQllIda0.

B:-Marriage at the age of 18

18 aomilm geangss allanao.

C:-Limited interval between pregnancies

dlualo oseassElepe®m @See DSOEWSS NBERWIBEMo

D:-Conception before the age of 21

21 aoqime geom »dewoosm.
Correct Answer:- Option-D

Question62:-Which of the following statements about protein are correct ?
|. Proteins contain carbon, hydrogen and oxygen.

ll. Serum albumin is a protein.

lll. Proteins are organic compounds of nitrogen

IV. Proteins are good for efficient absorption of calcium.

©®I6Pa|0QMADIE G@JoglRRIW] MNIMLeAIS LEIWIW @TMIAUMGUB RO

l. @086 ©6a0EWRM Bo&lRmd agaria @oseElugens.

Il. adloo @ry@denidlad 6@ cogld @ryen.

lll. eeMSBM @RSEEIL HEW\AI MVQBDmDOEM.

V. £:0@3ruiemBe0 &0EEMANIQ @RYUIlGEEMO@TIM Ma0IWlasme.

A:-L 11, 1 and IV
B:-Only I, Il and llI
C:-Only Il and I

D:-Only I and IV
Correct Answer:- Option-C
Question63:-What is cretinism ?

a6’ (@ QYImlave

A:-Disease caused by calcium deficiency in food.

BSUEMOMIB HIGITVITTHIBEO @RI PLlo OEMNBIE:MM BIWo
B:-The disease that occurs in a newborn due to the lack of iodine in the diet of
the pregnant mother

NAREIMIIW EPMQES BHHUMOTTIG GPEIWIMHO @RI Glo BE MAIRI® BIAITE OEMEIG:M
8OO0



C:-Kidney dysfunction due to dehydration in the body

oElEOTIeR! BRIMaYe GRlo YLHBHSOS AUBTDMRIMY ML

D:-Fragile bone condition seen in Adults

OIBIMAUGBIEE H06MMN af)Q] HaldgM @AM
Correct Answer:- Option-B
Question64:-Table given below represents a balanced diet for pre-school children

eloead &:gleges Tudle® @RYANIEAYDITS NITWES HYAUOS BBHIFODIGIEBM 2l0dS
olmlwWleelesmay

3 Yoars Yoars

4 NV Vv
Foodstuffs @ @ @
150 2

50 |40 e0

50

A:-It represents high cost balanced diet

6212108 &SI MUAlG® @RYANIEOTTIMHO 2103

B:-It represents low cost balanced diet

6212107 GO0 MUAlG® @R)ANIEDTTIMBOO 21038

C:-It represents moderate cost balanced diet

(EIWE! Halrlnla)es MAlG® @RYANIPOBIMBEHO aldARS

D:-It represents very low cost balanced diet

Q8O 621210l G060 MUAG® @RYANIROBIMBEHO 2100
Correct Answer:- Option-B

Question65:-It which situation should the following first aid steps be taken ?
I. Allow some time for the bleeding to stop on its own

ll. Cover the wound with a clean cloth.

[ll. Wash the wound with mild soap and water.

a3© @PaldhSo TVeRAM4I08I06M @IBY A]OQM @O DEYaH MDBMOY

l. ®:04] TVA@O PG AUIBMD CaIBGIM @RIQIGIERD:.

Il. weLvEIw Demled6nE golal L] ODGH.

. gdlal alley @060 ETVInjo HQISBQYo DaICWIUI 4] HEB:b:.

A:-bitten by insects

@oemlQes &slegomd

B:-bitten by snake

aloml’ &slegomd

C:-bitten by dog



algl &Slaomd

D:-there is a wound

AIPOIT POIQYENRIITI
Correct Answer:- Option-C

Question66:-A government scheme that ensures girls education and future financial
security
ealmesleges alleypeimal coalolass MoMIETIe: MIEEHQP DOAEBM MVAEHIAB alRL®)

A:-Integrated child protection scheme (ICPS)

MNLLGWIMM B MVEEBHEM alRLO

B:-Sukanya Samrudhi Yojana (SSY)

@MY VgRLl GImM

C:-Betti Bachavo Betti Padavo

@6NIS] 6NILIEAID EENIS] Al00EAID

D:-None of the above

QHEIT OO AUHQOMORL]
Correct Answer:- Option-B

Question67:-Which of the following is an integrated health management
programme that has a collaborative approach to improve the health of people,
animal and environment ?

DMaHy GRIVEBRUY YUEEINEERUY AlBlNLAI®] @RYEEIML afMIQ IIRISS NIMWo @G 0lQE:Qe @RAUOHX
a3eH0all®200)] TElEESHQ0 £.aQM VAW BRYEEIWY alBlaldrIM alRLOS

A:-Public health bill

6alo®2MIEINY enil@d

B:-One health programme

QM BaN@IOD BJOW)Io

C:-Tele medicine system

esell enclslailmd mueailwomoe

D:-None of the above

QHETd AlOITIMAUSHQITORL]

Correct Answer:- Option-B
Question68:-Bordetella Pertussis is the causative agent for which of the following
disease ?

GENINBOWSQL] @m@%mﬂ(m ag)(Mm GEINIEND ald@EDM GEINo aRBD



A:-Mumps

gerEladle’

B:-Chicken pox

gﬂm(ﬁemo@

C:-Whooping Cough

aflejm g
D:-Diphtheria

UWlodlele
Correct Answer:- Option-C
Question69:-The figure given below is an example of

©@26¢ MyallafleBmm al@e al@ aVocaIBM MUAlwImETIMBHO MlaCBTIM ©RIOEEMA0ET

11

A:-Law of similarity

aMLOGWRY Mo

B:-Law of closure

ad@ODBEEM MM

C:-Law of simplicity

egloyomIM@e0 mlon.

D:-Law of proximity

aoodialy Mo
Correct Answer:- Option-C

Question70:-You might have been children feeding dolls, according to piaget

conscious thought is a characteristic of which of the following developmental stage
?

BGBUB aldQIERGHUBL @RYnNIBe MMEBM@ B6MEIglee) all@onues @RElOWOTIM @@
allgomuepigomIBe0 MVAICUBH@IET TVEAIMM allom

A:-Sensory motor stage

O aloelhalge

B:-Pre operational stage

@OUY @EMOAUDAINP IS0

C:-Concrete Operational stage



@@@T(D ACMIUOAIO® LRISe

D:-Formal operational stage

63Dalald@ld ACMIUOAIIO® LRIS0
Correct Answer:- Option-B

Question71:-A student knows that the sum of eight 10 rupee notes is 80. But he
finds difficult to answer the question on how many 10 rupees are there in 80
rupees. The student has which of the following limitation ?

a3 10 @as 6mogeud 6ai8mo@d 80 @al@ode el &gl 80 @Gal0I@d a@ oD @i
o)’ 6210615008 DOM@o AIOWIM (JWIATVEAIFMP. B:SlEH B al@ldlmoem O88@

A:-Conservation

HEMAVBEQUCHD

B:-Reversibility

QDPAUBOMo

C:-Reflective

@@laneImooad, oflam

D:-Logical thinking

Q&Oailam
Correct Answer:- Option-B
Question72:-In Allport's trait theory, Gandhiji's honesty falls under which of the
following traits ?
WorWIEHQeS MLmITVML® @R)BIEAIBSIMBO0 SOIY GlClKIMS @@ qualletenu®salnd DUdea|gIo

A:-Central traits

CHR MVANCURUD 0D

B:-Secondary traits

BIOIQ MQICUBHDHUD

C:-Cardinal traits

g6uy VQNEUAHBUB

D:-External traits

6NI0a0Y MQINGURH® BB
Correct Answer:- Option-C

Question73:-Who is the chair person of Central Coordination committee under the



Disabilities Act ?

Qlleei00w @R MsafleleBmMa@leEs em@3eHIBWlEMaum HlGlYes @RWIBHUM G@RYE’

A:-Principle secretary of central education department

e @30laRPEPM Al Mol emu@sdl

B:-Principal secretary of central social welfare department

BH@3MVOGaOlErEHMA Qldha] BaVlaj@ emu@Sal

C:-Minister of central social welfare department

BH@3MVOGPaOIEHEHUN Qldia] 4JAOLIQRSS A

D:-Minister of state social welfare department

MVE(MINIM AVIPaGlHEHUD Qldsa] 4JAMRIQYSS AT
Correct Answer:- Option-C
Question74:-Who formulated the given equation IQ=MA/CA x100 ?

1Q =MA/CAX 100 agam quaandyp @aledlsl womymenad

A:-Spearman

(T}Jﬂ@éimocﬁ

B:-Therson

a@gsn%

C:-Howard Gardner

anNQIOBOW NIBAWMA

D:-Alfred bene

@)@’ enflom

Correct Answer:- Option-D
Question75:-Which component of a child's intelligence is concerned with reading
and analyzing maps, charts and diagrams ?
BalSo 210@T, W o af)MIl AUIQy] @RAIVIAIERM@IM &HYIYS8 &:SIQeSs MJRVIQYSS aR® ALISHAI6EM'
gI@d MBI

A:-Linguistic intelligence

0aH0alERI® 6nycul

B:-Logical and mathematical intelligence

QB WEMIMalEQRIW 6N

C:-Spatial intelligence



GUoY (NORINIEAI® 6NYEUI

D:-Existential intelligence

@OMLAl®IAIEAIW 6neUl
Correct Answer:- Option-C

Question76:-People who don't have children love pets too much. which adjustment
technique is used here

H3HS0OmAIR USAEDYNEEEE @PAIMAIW] EMYAClERR. MAleS a@® MVAIEWIWM AVAIETOSSO)

A:-compensation

@10(10ngd@6TMNo Q}cﬁfd]‘ﬁ:@mo

B:-Identification

©®0BORBHE6Mo

C:-Displacement

OBEIOIH6Mo

D:-Repression

BAaMo
Correct Answer:- Option-C

Question77:-Laws protecting Women are
I. Article 15(3)

II. Article 51(a)

[ll. Article 14

IV. Article 39(e) & (f)

V. Article 24

Myl TVoessM MlOaEBRUE age®Ee|do
l. @rdsglesld 15(3)

Il. @rdgleslud 51(a)

. erdgleslud 14

V. erdgleslud 39(e) & (f)

V. @rdgleslud 24

A:-L LN IV and V
B:-1, 11, 1

C:-1, I, IV

D:-lll, IV and V

Correct Answer:- Option-C
Question78:-"Personality is that which permits a prediction of what a Person will do
in a given situation" is defined by

8@ B0l 803 AlURI® MV0aO.2IEKOTIB g ©.21Q0 MM BT @ALaIMe MSOMIM BH¥lQM®Y
@OMAIGIEBM@IEM QAUBBI®Io 0D MIBAUAIMo QUBBIITHIM MTBEBIQ@OG

A:-A Allport



af). @V@ICAIIAS
B:-R.S. Woodsworth

@QA. af)aTV. QYoM QUG
C:-R.B. Cattel

@@. enil. H:0Q@d
D:-Dashiel

QUDIAHBD
Correct Answer:- Option-C

Question79:-What is the correct definition of ‘Gram Sabha' as per the Indian
Constitution' ?

OAMMD BEEMALISM (@JdHIB0 (NIAMVE afMDIBHO WEIIW MIBQalMo afMIEM’

A:-A body consisting of all the members of a Gram Panchayat

VIR AERAOVOTIER! af)2J0 @BoUEBREBQo DUBOMHISSAN 633 aualol

B:-A body formed by the village head to discuss developmental issues

Qlleaum @)yeeBBUd ald4] 6aIQIM WIRCMAIAM @alls@lsl 6@ qudlo

C:-A body consisting of all persons registered in the electoral rolls of a village
within a Panchayat area

803 alOOOBIBe0 adlWleseslass s Woaovileal caSA alSle:wld eslqud ealglses aggo
QSO HEBQ DUBEEISSM @3 oo

D:-A body consisting of all the permanent residents of a village

WIRETIeAI af)efd MuAle GIATVEHICEWRY. DUBOHISHAM 633 audlo
Correct Answer:- Option-C

Question80:-Consider the following statements regarding the Panchayati Raj
System in India and identify the correct ones.

i. The Panchayati Raj System was constitutionalized through the 73rd Amendment
Act.

ii. The tenure of a Panchayat is five years, unless dissolved earlier.

iii. Panchayati Raj institutions function as per Part Xl of the Indian Constitution.
HIMIQIOR! A lERUIQOD 22 M-QIlWIMED®® (ﬁsso']_gdgg @I0Y HBGIFOBIGBEBINITNIAUMBUB al@ln6mlal
PEIIVWA @B ClQd:.

I. aleI0@E @0 MLQIWIMe 7 3::006@® REEMAAISMI GRAVMI MIWACITE

BEEMOQISMIIT EBGBIEBOS.

il. 8@ arIIQOEBIMBEHO BORIAIW! EMESDTN oﬂaﬂ_gé allglegel@d @l Qidauaoe.

iii. DM REEMABISMYSS AlBIHMIMIe BIWe @RIV 406N AIERIOWOIIEIE VNI IMEERUD
JUBROBIEBMN D).

A:-Only (i)



(i) @0@o
B:-Only (i and ii)

(i and ii) oo@o
C:-Only (i and iii)

(i and iii) oo@o
D:-All of the above

QHsle)8se o
Correct Answer:- Option-B

Question81:-Consider the following statements with regard to State Election
Commission.

i. Article 243K provides for the establishment of a State Election Commission.

ii. State election Commissioner is appointed by the President of India.

iii. The Superintendence, direction and control of elections to the Panchayats shall
be vested in the State Election Commission.

Which of the statements given above is/are correct ?

MVEMINIM HDEEEMGa] HAAUDAIWS NIMLET GIOLAOQYM (JTYICUIMEB:U AlBlNEMIERS.

I. @RASleslid 243 . 8@ MMM HDEOETSa] GaXflatad MuNoallenom alaimun 6.21QM.

i, emunom emeresmSa] Gedlaemeo MeAlesmM® EoaYalGi@osm.

iii. aleROIDHSlcaIERss ODOOEEMFlHSOS CO@IECMIFe, MIBEGUDo, MIWEADEMo af)MICU MVELOIM
6060660mFa] Gallaumlad Tledlqad0)dleso..

&l M@ @NEBM QTYIAUNBSI@B oG Lol

A:-Only (i)

(i) @20@o
B:-Only (i and ii)

(i and ii) oo@o
C:-Only (i and iii)

(i and iii) oo@o
D:-All of the above

GRMAOEOMAUSWEYJo
Correct Answer:- Option-C

Question82:-Which among the following committee was appointed by government

of India in 1977 to recommend for improving efficiency of Panchayati Raj institution
?

®969aj0QMAUVIBE aR® SISl Al OB ©S MNJAIMEBSOS HIIBHAD HR.0JFOMIM
®a1Be 6aQYMG@IMIV L AMBEAMBE 1977-@3 mloal gy,

A:-Balwantrai Mehta Committee

NIGIQU OO GO oea'lg'l



B:-Sarkaria Commission

MRMHIBIQ BB

C:-G.V.K.Rao Committee

gl. all. o, 00q) eadld]

D:-Ashok Mehta Committee

@REUIE:; GACID &gl

Correct Answer:- Option-D
Question83:-Which one of the following subjects has not been devolved to the
Panchayati Raj Institutions under the 11th Schedule of the Constitution of India ?
oYM @EEMAaISMes 11-::00 onsum)éua @B MIOY aAlOQYMAURIIT BN AlRUIQOD @I
MUN0AIMEBRUIES MIe@IUilafiglejomm aflat@o

A:-Higher Education

OM® QllBPELOMVo

B:-Women and Child development

MJSHBESQo B5lHBESQo Qlleravmo

C:-Non-conventional energy sources

AldEMICRY®® ODQmR e@pomq}‘g@;(ﬁ

D:-Implementation of land reforms

Bal@lakEemMo MSallenen®d
Correct Answer:- Option-A
Question84:-Which of the following statements regarding the State Finance
Commission is correct ?
TVEMINIM WMEIRY GHARHTAIW] NITWEAIS @IOPa0QMMAIWIGE aB@I6TY (@l

A:-It is constituted by the Union Government every five years.

@R QUBHODI@ BT CHHM3 NAUMOAMBOIM O (@B alld:@lestm@.
B:-It recommends the measures needed to improve the financial position of
the Panchayats.
ARV IDBSOS moMIEDIE: Al 2 4ealSEDM@IM @RYAILBIRIW MSalSlGU3 DM Waldduo 6.21Q)M.
C:-Consolidated fund of the state shall be placed at the disposal of the state
finance commission.

MeMOIMOBIFOO H6MBETLISICAQETE’ ANENE MMM WME:IDY B2lHUM HEB:EIB 6).21QMo.

D:-All the above



GA@3 OIS0
Correct Answer:- Option-B

Question85:-Consider the following statements regarding the structure of
Panchayats.

i. Every state shall establish Panchayats at the village, intermediate and district
levels.

ii. State with a population of 20 lakhs or less may not have intermediate level
Panchayats.

iii. Gram Sabha, Block Samiti, Zilla Parishad are three-tier structure of Panchayats.
Which of the statements given above is/are correct ?

AlROVIDHSHS LISM MVeENITWl5] @ISO (@JTRIQUMB: U al@lNEMIERS:.

I. 8060 MUMNIMOf W2, ModdWIWY, HapmelERElTd aAlMIOVWIDEU MNdalesnsmemoaT.
i, EO@alo £IBHER @RI G:0EAID WBNMVEUWYBS MMNIMEBRUIES ad0d dlaulwg ealniod
AleIOQTOEHUY DEMRIB:EMo  af)(my’ Mldenimwale.

iil. woamue, ealoss mudlal, a0 aldlesior agaria ARAOVIDHSEOS (@RI HQISMWOEM.
&l M@ GENLBM QTYIAUNBSI@B @M L@

A:-Only (i)

(i) @20@o
B:-Only (i and ii)

(i and ii) oo@o
C:-Only (i and iii)

(i and iii) oo@eo

D:-All the above

GRAMAOEO U0
Correct Answer:- Option-B

Question86:-Which of the following statements regarding the powers, authority and
responsibilities of Panchayats is correct ?
i. The preparation of plans for economic development and social justice.
ii. Panchayats have no power to levy taxes.
iii. The powers and responsibilities of Panchayats are determined by the State
Finance Commission.
AlROVIDHSHS @RUlB006BU8 POMEQIEIDMEERUY afaTlal MVENIMWl4] OO @JARIAUMSB:EI®I
a6 (E!
i. mvomIEDle AllemumEsie. MVogadle MBS ARLDIBUE CQIOIERS:.
ii. Mo aaEmIess @RUIB:00. AlfRVIDEHUBES o).
iii. ARUOQVIDHSOS @OUlB006EEE PODEEIOMEES. TlB@EMTIEBMD MVMLOIM WME:D B> 2ot
@RyeM.

A:-Only (i)

(i) @20@o



B:-Only (i and ii)

(i and ii) oo@o
C:-Only (i and iii)

(i and iii) oo@o
D:-All the above

GAMAOEOQUSWEJo
Correct Answer:- Option-A
Question87:-Who has the authority to make provisions for the maintenance and
audit of Panchayat accounts ?
AlRUOQOBIBEOO @ROEVEBHEES al@lnloaiMEilme 6300ldleuilave QIIMNGUE alB@6agOmOd

@R)BEHIEM @RWIHI®0

A:-The Governor of the state

MENAIM NQUBEMA

B:-State Finance Commission

MVLNLAIM WM EIY EARHD

C:-Accountant General

@REEHDENRNTO L|MOTD

D:-The Legislature of a State

B3 MVMAIMOMIMBHO Mlwamvue

Correct Answer:- Option-D
Question88:-Which Article of the Indian Constitution defines the duration of the
Panchayat ?

EOAMYM BEEMALISMQYES af® @RTOE 2GR alfIOOBIBHO @IaIIW]l MldqQlallesomoy

A:-Article 243E

@rdglesld 243E
B:-Article 243F

@rdgleslud 243F
C:-Article 243G

@rdglesld 243G
D:-Article 243H

@ndgleslud 243H

Correct Answer:- Option-A



Question89:-In January 2025, which Indian official encouraged women Panchayati
Raj Institution (PRI) representatives to adopt artificial intelligence and innovation for
people oriented governance ?

2025 20001@d@@, aR@ samym @ge QBT QIO aleR0QOTS 0% eoadpyloyanad (PRI)
olrldlees @rdsladlauymd oaoailzmmye @@MIdWEEBEE. MUlle:@lEMm Ed@NoaClafloioy

A:-President Droupadi Murmu

MW’ &Gl B

B:-Prime Minister Narendra Modi

(QWIMAED] MEEE3 caddEl

C:-Lok Sabha Speaker Om Birla

GRIOBMUERD U@ 63::00 6nilds

D:-Minister of Panchayati Raj Rajiv Ranjan Singh

aleI0OMIEIE A @IlOl eermad ulouy’
Correct Answer:- Option-C
Question90:-Which of the following best describes the scope of public health ?

Mo ]OQMADIBE aG@IEM HAODBWMICEIVIOBTIMWBHO QURYAIBH aBQYo MMMOWS allu@lesm@

A:-Treatment of individual patients with chronic diseases

Qllg200001 CEINEBESE AGITIN® cEIUlB:g6S alalory

B:-Preventing diseases and promoting health at a population level

GEIUIEBRUY MSQBHQo MOGalld GEIEREIE @YEEINLe EIOTVIllEBEQ0 61 D:.

C:-Solely focusing on infectious disease outbreaks

ald@4)QIoWl @moghdoackjgcm@'lcoﬁ D@0 UORL CBHSIBHOIERH:.

D:-Providing emergency medical care

@RSIOTIE HOQUBKITVANIWo MBI DI

Correct Answer:- Option-B
Question91:-The public health approach transitions from problem identification to
response. What is the significance of the "What works ?" phase in this process ?

eal@emoeeonyudaim. (Public Health Approach) wuw. @ldlaclganoied alary
@O HEEMODBICAIES @OQMP. 0D (GIWOIBS agmaem @aidowlesmma (What works) caigomladen
@OWIMYe af)(I6TT

A:-It determines whether policy changes should be enforced without testing
interventions.

al@lIEURIWMI DSEAISAHSILIOm MWAIEAIW MIQEERUS MSAIGEREMRDEENRI af)im @ MlBemaleso.



B:-It evaluates the effectiveness of different interventions before large scale
implementation.

aefle eoooiass msajomealm’ gml AT DSOISEIBEeS atlladqll o) alleivlmgmme.

C:-It focuses solely on implementing already established solutions without
modification.

O@IMdhe NN l@la0EEERUE MIQAILJIO®m MSOEBMMIMT Ao O UBHRL EHh(3lG:AlERMo.
D:-It eliminates the need for further surveillance once an effective intervention
is identified.
aDRIEJBRIW DSOAIST MGGl GFlTMIT &S MIBlBHEMOTIBHO @RYQUUDYE:D® EDD
EDBJOMOILRMO.
Correct Answer:- Option-B

Question92:-Which of the following best describes the difference between universal
and selective prevention strategies ?

Ml j0QMADIGE al@I6T MLOBAUGIB:QYe TEEENFTMDAIW (@J@IEEIW @EVEEBRUY ®adile)ss
Q@M aBQ)e MO allaiElesmm@

A:-Universal strategies target only high-risk individuals, while selective
strategies target entire populations.

MLIBAU@H DEDEBRUB OWABMM @RAIB:SMVIWLIDWQSS QABDIB:O8 @0 LIBHISMD. GREMTVAW.
OEEMFOD ®EDEBRUY PEAUM BMMVEUOWWQo LIBHUAISMP.

B:-Universal strategies are designed for entire populations without identifying
at risk individuals, whereas selective strategies focus on groups with known risk
factors.

@RAIGSTLILIMQYBS UGBS @IEl2ClWIO®m PEAIM VMTVEUo TVIBQAUDIE: OEVEBRUB (@Bl @IalM
6.2IQISeNE. @OE® MAWo TEEEVMFOD MEDEIBU GROIWEAFIM GRAIBHSTVIWD CRISHERSES
@quoeagﬂas% WORL CHHClEBMD

C:-Universal strategies focus only on youth with early symptoms, while
selective strategies aim at those with diagnoseable disorders.

MIBAUGH GDEBRUD (JOPERIBGHAMBRSSS QIS BI@o YORL CHEIHAlMBME GOE® VAWM.
OlEEmSOD MEDEEBRUS CEONMIBIM® HEAUMLIMERSSBAIOE LlBHUAISMD.

D:-Universal strategies and selective strategies both target individuals with
significant symptoms.
MIBAUTH GDEERES. GEEETIHFO GODEERSE. GHIORIQ RIGHANMRSSS ABTI®Hes alBHElgmMo.
Correct Answer:- Option-B

Question93:-Study of the distribution and determinants of health-related states
among specified populations and the application of that study to the control of
health problems

WlAGlay WMAVEUWIEE @REEINYRIW] NITWERS BRAIMAGEHS QlMEMEOMQ. MBERIWBEROSYo



oeao'l_gdgg_a aloMQje @RYEEIV (JUREERUE MIRETIEBMN@IM @) AIOMOTIMWHO (JEWINYo

A:-Epidemiology

af)aflocwdlewoss]
B:-Public Health

6)ald©®ZBMIGOIN e

C:-Pathogenesis

alG@omM MUl

D:-Primordial Prevention

@nEln OleeIWo
Correct Answer:- Option-A
Question94:-Which of the following is an example of a positive health indicator ?

Ml j0QMADIGE al@I6M EaldmIlZlal @r)EEIWY MY ald@BIM ©BIaDEEMo

A:-Infant mortality rate

WILAEEM ML

B:-Disease prevalence

GEINUOaIMo

C:-Life expectancy at birth

LVIOHMMLAQ )OO (GT@GR@OG)G“EI‘SO

D:-Hospital admission rates

@RWal@® (@JEUdM ML
Correct Answer:- Option-C

Question95:-A government decides to integrate a successful maternal health
program into national policy, ensuring sustained funding and legal support. This is
an example of which type of scaling up ?

MLAlEAI® WMTMVANIWQe MIWAIEAIW allgdsM@e HOIERIOEIMTE AlRWHEAIW M0Q G@RYGEIN
al@laloslo® 6Bl MOOEBIEAIE Tl flenond 6@ TVAERIR IGAIMIEBML. B® ®®@. emMailes’
@] B@ DBIAOEEMAIETI®

A:-Horizontal scaling up

£a0001eTVLIeMRM@ emailes’ @oal

B:-Vertical scaling up

60Idglen®d emueailesd’ @oaf

C:-Spontaneous scaling up



quIcaw@o emealles’ @oaf

D:-Diversification

06QIQWINITE@EMo
Correct Answer:- Option-B
Question96:-Which of the following is a key objective of India's National Health
Mission (NHM) ?
Ml 0QMADIGE aB@IE DAVIWES MIHEMT HaOTIOD AlaHUBHO (ag)B ag)al ago) @WOm alBuy

A:-Providing universal health insurance to all citizens

af)8l0 ©arvEMIBHBo MVIBAUTH @RYE@IWY LDABHYOMAY M@BLsb:.

B:-Enhancing equitable access to health care

@RYBEIWY AlClEAUY DRIAMIW (@JEQUWMo AUBRUlaflea®:.

C:-Establishing private healthcare systems across all states

af)gjo (MeMLNOMEBBEIRje (TVIGIEY @RHEEIV Al@lEEUI TVONWOMEEBRUY (MuNJallEBd:.

D:-Focusing only on communicable disease eradication programs

ald® 4101wl MIRDOBLRM AlGladSIG:SIT Ao WBRL CBSlBOlERE:.

Correct Answer:- Option-B
Question97:-According to the National Health Policy, 2017 health care should be
oriented towards which type of approach ?
eBWIL @REINy Mo 2017 @rmMVElY] @RERINY alBlEEY aR® MEOTIRIBS MUAlaIMOTIERIE
CH@3H@lENEMo

A:-Curative and tertiary care

BRI, @D al@lalE6Mo

B:-Preventive and promotive healthcare

@@NEERIWQY GEOBNIANMAIRAIRIR @RYCOIWY al@leOH

C:-Private healthcare models

MUIBHIBY @YCO@IUY (MVo@EBHEIT O(chaceaua

D:-Emergency care and first aid

@RSIVTHE al@lalEeMa (AL ERAHQo

Correct Answer:- Option-B
Question98:-The National Health Mission Initiated a 100 day campaign to eliminate
TB in the country under the umbrella programme

eI @RYEEINIHEDM IO GHWEEIW Mldmodmasmarimow] 100 dameon @raug) @:omiwlm
@T@(oo@hd



A:-National TB Control programme

CRUWIL HHWEEIN MIYWEDEM al@lalos]

B:-TB Hatao, Banao TB Rahith Bharat

BHQEOIWNo QS_-'% B3, SHQECOINPHB0 DA YQIEB3IH

C:-National TB Elimination Programme

GRUWIR AHUWEEIN MIBIIBLRM Al@lalds

D:-National TB Eradication Programme

GRUIIQ HHUWEEIW DMRIM al@lalos]
Correct Answer:- Option-C

Question99:-Consider the following statements related to Kerala Public Health Act.
i. The Act was enacted in 2023.

ii. An approach of one-health for public healthcare has to be adopted.

iii. The social systems that provide health has to be strengthened and the
conditions that may cause disease has to be weakened or eliminated.

iv. It has replaced the Travancore Cochin Public Health Act, 1955 and the Madras
Public Health Act, 1939.

CHES HODBMICEIN MWANAOWS] NIMLEAIS EOMIROQAM AYIAIMEUS al@lWETIEEE:.

i. 2023 enem 00 dloae Mlanld alomay.

ii. ©aODEBMICBIN TVEBUEMNTTHIMIW a@dHICEIMNe af)aM MVHlaIMo TLG:A@lER6Mo..

iii. @REEIML @BIMo ©alQm MLIGaSld MNWIMEIBUY WBTIPAFETDEBDENE, EEINOTIM'
$0EEMAICWERIQYIM @RAUMINGUE GAENIAIAIERHEWI DRIMIERBHEWI GOI6Mo.

IV. SoId@d 680510 alspfley daomony @rg , 1955, n@omy aieple: eanmdom @og 1939 agarilag
aldea0@] @ Mlrinlod aiam.

A:-All the four statements are true

g0 Moal (@JIRIAUMBSo elc](Whlan

i, iii, IV agomlal a0@ea vo@losmy

C:-Only ii and iii are true

il 8o il ®0 @0@o Vo@IOETY

D:-All except iv are true

IV 8dlod oo odlwosm’

Correct Answer:- Option-A
Question100:-According to recent data by Election Commission of India, which
state/UT had the highest percentage share of female electors in 2024 ?
oy Gleesomga] Gt aqudlasoal g @muEls), 2024 @ aggaje &sm® AImlmo
GAINSANIMES MVEMLAIMo CHBRAEM (@JCBRUBe aBMIE 7

A:-Kerala



GOS0

B:-Gujarat

DOWOIO)

C:-Puduchery

@ EIdl
D:-Rajasthan

©2=|MLNIMD

Correct Answer:- Option-C



